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Integration by part, for definite integrals
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Section 7.2
-

( 7.2 is needed too 7.3 )

7.2 integration combinations of siu and cos

of sea and taa

of Csc and cot
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Thi , same trick works if sin is to
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To summarize
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If both m and u are odds
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The hard case is integrating Isin 'T coixdx

when m and n are both even .
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Since m and n are both area
, we can

convert all our sine , to cosines
,

or all are

cosine
,

to lines
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Pick one
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so we only have

even power , of Siue ( or even power , of cosine )
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Step # 2 : Two options # I Use Trig identities
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which you like best
# 2 Use integration by

Part ,
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